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Instructions to the Candidates :
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This question paper consists of Part-A and Part-B. Each Part carries 150 marks.
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Each part of this question paper consists of three questions. All questions are
compulsory. Question Nos. 2 and 3 have an internal choice. For Question No. 2
word limit is 100 and for Question No. 3 word limit is 300.
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Acetylene and its uses
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‘. Rty Write the scientific names of causative agent and vector of plague. (@
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l Write the scientific names of any two biopesticides.
| |
1 () T F TEW F Ud SN A MR T % weeg W ) J
L Enlist the natural colours present in sunlight in a sequence. . .
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A boy runs fast after seeing a street dog. His ‘breathing becomes fast and
blood pressure also increases. Which hormone will be found tq be high in
his blood? Name the gland secreting this hormone.
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Differentiate diabetes mellitus from diabetes insipidus. Describe their

symptoms and concerned hormones.
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Write a note on haemophilia.
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What is forensic science? Explain the role of insects in forensic science.
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Write a note on remote sensing.
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What is cyber defence and why is it essential?
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Father of Ramesh is 27-year older than Ramesh. After 5 years, the ratio

of the age of Ramesh and his father will be 2 :3. Calculate their
present age.
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What are alloys? Explain with example,

i >
=

4
my f“
g i f ;*J ) . IGTRE ey HiK (g ™ i : K ;
Ilr-, A 1 A v H ] a — SO - : - E f ﬁ ﬁ . - 5

t‘_.?{ -1 A1y E:‘% ‘f "‘iw'qlaf?!fgm’“» q{" IR CIE r:'l id iF 5 SEE T L o2t AN 3
", '. . 4 i 22 o b4 S «
i L AT bl 2 T ke oo esents) g gl ! - e e ] -
B Wnte notes on mean, median and modg., INERRESE s Mw :

rusidg e Doy a1ow siominz 2 AGUANITLY ne
L H e Ay im0 e

Lol 4
,\,I

Scanned by CamScanner



C—

15x3=45
Answer any three of the following questions in about 300 words each :

3. mmﬁammmwsoomﬁm(aﬁém:
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T Hifs )

Enumerate various species of honeybees. Describe the scientific method
for obtaining honey.

(b) Wfamuwﬁwﬁmﬁammgm%ﬁﬁaaﬁ@mmq@mw
S T U ShIT | 3Rt s  fog 3T st @S
Define environmental pollution. Discuss the various sources of air

pollution and its adverse effect on living beings. Also give suggestions for
their remedy.
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What is meant by biodiversity? When do we observe International
Biodiversity Day? Describe the technologies used for propagation and

genome conservation in a given ecosystem.

(d) Wﬁ@ﬁmw%?wuﬁzﬁﬁﬁﬁmﬁmmﬁmaﬂhml
<
What is Information Technology? Discuss various means used in

Information Technology.
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ources of energy. Describe
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merate the various non-conventional s

Enu 1
in detail.

any three of them
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, I" ) (i) What is diversity index?
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B - What is the meaning of demonetization? W ' 'i
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(b) azgqaﬁarm(esﬂﬁmmm%?

What do you understand by Goods and Services Tax (GST)?
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(©) mmﬂww%?

What is the concept of net inflow?

(d) TRa oRaiT @ 1 aed 27

What is meant by Green Accounting?

(e) m-@?mfawa:um%?

Which countnes are the member of BRICS?
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‘What is the quality of employment?

>

: () o IFfRe T whg & gE R@
5% What is the main purpose of Direct Benefit Transfer (DBT) Scheme?
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What are the chief components on which Human Development Index is
based on? "
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Give three reasons of regional imbalance.
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What are the reasons for low sex ratio in our country?
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Distinguish between Green Revolution and Golden Revolution.
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What measures has been undertaken by the government for the reform

in its financial sector on recommendations of the Narasimham
Committee?
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What are some emerging trends in Indian agriculture as a result of

:

! liberalization?
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~ - What are the objectives of Pradhan Mantri Gram Sadak Yojna (PMGSY)? F
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Write the salient feature of Kisan Credit Card Scheme.
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Suggest the measures to revitalize Cooperative Movement in India.
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K1y ‘Wnte a short note on the unportance of agriculture in Madhya Pradesh i
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Discuss the econom.lc reforms in India in the light of social justice '
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and welfare.
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Explain the measures taken by government “to eliminate ‘iﬁedli’éli”ﬁes in X
income distribution in India. e
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“There is downward trend in economlc inequality worldvmde with a rise
in the average education level.” Comment.
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Mention the technological factors respons1b1e for low product1v1ty 1n

agriculture in India.
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Answer the following questions in about 300 words each :

(@) mmﬁmm(NSbc)%wmmﬁmﬁmﬁm#ﬁﬁﬁm
TR S S AR FT ITAH B o 1 T G B @ FE g T
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According to the National Skill Development Corporation (NSDC) there is
severe quality gap and lack of availability of trainers in vocational
education and training centre. Comment and explain the measures

taken by the National Skill Development Council to overcome this
problem.

HYar / Or
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Critically evaluate various problems and challenges faced by our Indian
economy.

(b) M W ¥ qeF ARIH 1 e ahe SR

Critically evaluate the Cooperative Movement in Madhya Pradesh.

AYgqar / Or
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“Information Technology plays a significant role in achieving sustainable
development and food security.” Comment.

(c)/ﬁmﬁaﬂwﬁﬁmahggmﬁ%gﬁaaﬁmaﬁ%amﬁmmmw
Tuiq Hifs)

| State the measures taken during Five-Year Plans to solve unemployment
problem in India.
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